Al & 0Ol & AFSE Z Ml A
FA WS
HH: (ZLE N U SN YH(DEUSF/HELE - SRSIIEN
SOl IEDE 2 24N WEAE (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wsut 78,167,433 73,485,897 4,681,536
= 836,370
[ 673,000
Jl 36,000
< 2,593,240
Al 74,028,823
g%%%)ﬂ% 2 WS LS USESR/USUS - 2 78,103,991 73,414,626 4,689,365
= 836,370
[ 673,000
Il 36,000
s 2,593,240
Al 73,965,381
s & 2+8d HIEXH 71,762,948 67,615,664 4,147,284
= 836,370
= 673,000
Jl 36,000
=S 2,547,997
Al 67,669,581
wnSHYE geld Het 19,000 29,200 210,200
201 et 3| 19,000 29,200 210,200
01 At2t2l] 19,000 29,200 210,200
Oo2g=g 19,000
oAl WESESEI &2
200,000 592483 14,400
SOISAl DEFHU i3]
100, 00024 102§%23] 2,000
CMEAT OISHS| Z& 93]
100,000& 12 12] 1,200
o0i==Al BAl Xt AR
100, 0003 »7 & »23] 1,400
Hsuns 243t 302,700 239,800 62,900
201 er23| 60,000 116,800 /56,800
01 AtR2t2|HI 40,000 101,800 261,800
Odgt==H| 40,000
SAUHA EF7a 2EE HMUE ME
80,000 400K 32,000
SALHHA CHOHHE AZHRL HIZ
1,000&#8,000% 8,000
02 S3=gHl 20,000 15,000 5,000
OAI2 &= X 20,000
oA RAE4H]
20,000,000 *14! 20,000
203 HR=H] 2,700 3,000 A300
03 A=A R =AH] 2,700 3,000 A300




FA WS
HH: (ZLE N U SN YH(DEUSF/HELE - SRSIIEN
chel: HERE ¥ 241 WA (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ollsus 20F 38 2tg3 S =X
2,700,000 *14] 2,700
207 ARl 240,000 15,000 225,000
01 =S| 240,000 15,000 225,000
OAILHIH A BHAH & 2ERIL AEES
200,000,000 *14] 200,000
OltsHA 2dd 252301 HEEY
40,000,000 * 14 40,000
LEWSIE XJ 72,000 24,000 48,000
Jl 36,000
Al 36,000
308 AXIHS0IA 72,000 24,000 48,000
) 36,000
Al 36,000
18 SIS B 4 HASAIE 72,000 24,000 48,000
OYSWEINC DILeIx X
72,000,000& *14] 72,000
7l 36,000
Al 36,000
N2 Bl Adgtd eIdEIE 111,650 41,521 70,129
= 8,370
< 30,489
Al 72,791
201 Ler23 | 1,650 1,521 129
01 At2t2ltl 1,650 1,521 129
OLgXt 2HHA AHAlLH QIMEIE WS
e 7Y 3,000 #6550 1,650
301 LEtE N = 110,000 40,000 70,000
= 8,370
& 30,489
Al 71,141
14 IIEt2 83 110,000 40,000 70,000
OLgA 2HHH Ardlghe QIHEI2 X1
200,000 *550 110,000
= 8,370
< 30,489
Al 71,141
2sgd 2802 10,565,499 10,954,064 388,565
307 el2tol & 10,565,499 10,904,064 A338,565
B 2=gHEXS 10,565,499 10,904,064 A\338,565
OAlUHA 28 &5 S4EXRS
3,666, 140,000 * 14 3,666,140
OAUHA WSItE EQ1(50)) =AEXS
749,767,000 x14] 749,767




SA: DD
Mz =WE XY 2 DECHH AsHWELSF/UEWE - SFREDIE
ool IERE ¥ 24 HEX (ol m2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OHAE 1002 ABIA 29 caDA
047,486,000 14! 4,047,486
ORAMHA 2% aaBES
1,000,000& *38CH = 12& 456,000
I[N =
785,671,000 x 14 785,671
OZNXIY HASY SABEZ(DE2, Lol
3, &) 25,000,000 & *6CH 150,000
OAILIBA 24T AHIAED} QIMEIS
A& 25,000,000& *43] 100,000
OAUIBIA LED = MOHHEXIE RXE4 X
& 40,000,000 =14 40,000
OAMUHA nEIE 2 XNE
390,235,000 & * 1A 390,235
OREHA 2H&a X
47,000,000« 14! 47,000
OAUIEHA HaII=RT S X8
2,220,000& *60CH 133,200
AMULHEHA THEXKZ2 7,516,782 6,130,830 1,385,952
& 1,872,391
Al 5,644,391
307 21Z2H0| & 7,516,782 6,130,830 1,385,952
& 1,872,391
Al 5,644,391
09 2LEHEX2 7,516,782 6,130,830 1,385,952
OAUHBHA MHEXSZ2
7,516,782,000& * 14! 7,516,782
= 1,872,391
Al 5,644,391
ALHEHA BEXes K& 1,612,607 1,612,607 0
hag 385,000
Al 1,227,607
307 21Z2H0| & 1,612,607 1,612,607 0
rag 385,000
Al 1,227,607
09 2£EHEEX2 1,612,607 1,612,607 0
O8lls 48X =2
1,612,607,000 x 14! 1,612,607
= 385,000
Al 1,227,607
NAHA 2H| X 1,656,000 920,000 736,000
= 828,000
< 414,000
Al 414,000
402 SIZHXHE01 A& 1,656,000 920,000 736,000
= 828,000




SA: DED
M znsS XN 2 nSotd 2 (nsSLSR/USLE - EF/SIIEY
el IERE ¥ 2490 UEXE (crol: @ 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 414,000
Al 414,000
02 QIZEHE AL E (01X THE) 1,656,000 920,000 736,000
OXMattA 2Hl X2
1,656,000,000& » 14 1,656,000
= 828,000
< 414,000
Al 414,000
CAIE NS2 (338 HA) X 830,331 830,331 0
= 243,000
Al 587,331
307 el2to| & 830,331 830,331 0
[ 243,000
Al 587,331
09 2FHHEXS 830,331 830,331 0
OZAE NS (3¢ viA) X2
830,331,000 *x14] 830,331
= 243,000
Al 587,331
SN2 28X 446,645 586,020 139,375
307 elzto| & 428,500 564,000 A135,500
02 2IZHBHAIAE & 428,500 564,000 /135,500
OZ%AIRs HEZHM =2 & Salg X3
428,500,000 x 14 428,500
308 AHAIEHMSOIE 15,145 19,020 A3,875
183 S| 2SO B XA AIE 15,145 19,020 A3,875
OHYAl 2SI E el AIAE 23|
15,145,000 * 14| 15,145
401 AlEHIZL SO 3,000 3,000
01 Al&H| 3,000 3,000
OHAl s2F 48X 2 ANdsS B
3,000,000& %14 3,000
HIRX SHAl 28 565,392 1,037,400 AN472,008
=S 169,617
Al 395,775
307 @12t01 & 565,392 1,037,400 A472,008
== 169,617
Al 395,775
gAEE 565,392 1,037,400 A472,008
OUIZ MO Ho{e B8 HI?X HAl 298 X
& 565,392,000 x14] 565,392
= 169,617
Al 395,775
wWSSFA Al 28| X2 3,326,906 3,356,479 N29,573




SA: DED
M znsS XN 2 nSotd 2 (nsSLSR/USLE - EF/SIIEY
el IERE ¥ 2490 UEXE (crol: @ 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 3,326,906 3,356,479 N29,573
05 2IMRIE =3 3,326,906 3,356,479 A29,573
OuSI OISAHME A =29
3,326,906,000& * 14 3,326,906
23 =AI(1002 &HAl) 2 419,436 267,412 162,024
[ 45,000
= 13,500
Al 360,936
201 er23 | 3,600 3,600
01 AtR2te|Hl 3,600 3,600
OZZE AI(1002 SHAl) FHE AIAE ALS
= 300,000 * 12 3,600
307 21201 & 415,836 263,812 152,024
[ 45,000
= 13,500
Al 367,336
0 2=gHEXS 415,836 263,812 152,024
OS3E AI(1008 &AN2EHl X2
415,836,000& 415,836
[ 45,000
= 13,500
Al 367,336
2N RIEEXS X2 42,739,000 41,192,000 1,547,000
307 21201 & 42,739,000 41,192,000 1,547,000
00 2F=SHEXS 42,739,000 41,192,000 1,547,000
O2+gH FIEXS (20234 ZeH&H)
22,739,000,000& *14] 22,739,000
O2+gH SNEXS(E3H)
20,000,000,000& x 14 20,000,000
VE2EA HEHOISHB 2SR A 60,000 0 60,000
= 18,000
Al 42,000
307 @I2t01 & 60,000 0 60,000
== 18,000
Al 42,000
02 B AAHE L 60,000 0 60,000
OLNg2dAt XH0IEdE2EX £X K&
500,0002 *120CH 60,000
= 18,000
Al 42,000
Hzdl uses A 1,439,000 1,439,000
201 fer23y| 11,000 11,000
01 AtR2t2|HI 11,000 11,000
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SA: DED
Zu: (ZDE NY L DEON YHRELSR/HELS - 22SIIEN
coelr ot nEsd &y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CDSSHA 4 MY B2 #49% M
80,000& *5IH A-+12 400
cuUSEs+ 82 AEH MH
1,000& *50001* 12} 500
307 212+01& 16,500 16,200 300
02 LB MANHEE 16,500 16,200 300
O0lel0I2 279 WSotA ZH el
3,500,000& *14] 3,500
OusSAtL Hig 82 & 2){cl BH
3,000,000 %14 3,000
OUSAD gl O 2SI| ZBH el
10,000,000& * 14! 10,000
308 AHXIHMSO0IA 50,000 0 50,000
13 S [2S0tHet 4 A AS A 50,000 0 50,000
OUSEAM =& ZHe 21z
20,000,000& * 14| 20,000
OUSE=tA+ Saf BHC HI=
30,000,000 * 14 30,000
S SAL BF 4,010 7,935 A3,925
201 fer=3| 1,200 1,200 0
01 AtR2tc|Hl 1,200 1,200 0
Oget=ZH] 1,200
o2SAL WS B2 ME
200,000 374 A 600
CEFSAAN WS 28 228 FY
200,000 *32] 600
301 Eet2 NS 2,810 6,735 A3,925
11 #AIAHIXIE S 2,810 6,735 A3,925
OR0t= 2BAMAL BE ZAL =&
250,000& %102 2,500
OH0Dt= 2+SAHA 1T 2AH W EH|
31,000& %102 310
AMUHA AMHIA AIRIEIE 29 64,800 64,800 0
301 EtE NS 64,800 64,800
4Bt 23 64,800 64,800
OAILHHA AHIA AIQIEDHEE AH|IE 4 64,800
odel 10,0002 x80EH 374 Atx22| « 12 57,600
o5t 5,000 x20E 374 Atx22| « 12 7,200
WSRLIPES HEHEA 26,262 27,330 21,068
101 @124H| 17,937 17,745 192
MU IIRIMZZENSES 17,937 17,745 192
OuSHERHS AEHZA 16,994
oQIfY 78,880 x5 5L 6= 11,832
oFFrd 78,8802 x5 1L #53= 1,972
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A300
A800

500

659,614

297,339

204,809
566,708

MEE
Ofl &k2h

8,625
2,625

6,000

5,508,947

1,905,947

6,000

1,901,947

Ofl &F2H

1,190
2,000
943
789
79

75
8,325
1,825
1,325
125
600
600
500
500
6,500
6,500

6,500

6,168,561
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2,203,286

Al

45,243
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2,000,000 %14
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2A: WEW
Mz =WE XY 2 DECHH AsHWELSF/UEWE - SFREDIE
el DEQFEAIL HE U 22l (crol: m2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
o &E§ BIS &2 A&
16,5002 x 194 CH 62 19,206
02 S324| 1,534,048 1,895,947 A361,899
O3222 ¥ HAl 1,429,548
oSNNS E M=
18,0002 *1, 1680 A+ 128 252,288
o|TSAIEZ2 &)= 17,630,000 x 12& 211,560
oXsENEMH HHEABI(Z2I1) AlE2
2,423,000 128 29,076
oHAMEBAIAL MEJNH SHE
40,134,000 128 481,608
CDEASHO PHY EAZ
11,988,000 x 12& 143,856
o|TS 849 CCTV S4l&E
10,849,000+ 12& 130, 188
oHAAEFA Q0|0 SAIE
15,081,000 x12& 180,972
= 45,243
Al 135,729
OAIE &R AIH] 104,500
oXIsEWSHH(ITS) Sl
100,000,000 * 14! 100,000
oNEXBHE AIES HH|
4,500,000 14! 4,500
206 =8| 6,000 4,000 2,000
01 HZ8I 6,000 4,000 2,000
QusSHaZo BT 2
2,000,000 *1A 2,000
OX=A XD B 2
1,000,000 =14l 1,000
OCCTV E==XHH ¢ 1,500,000& =14 1,500
OHAZBAIAEY B2XT 2
1,500,000& 14! 1,500
405 XHAHE S HI 90,530 90,530
01 AL Z2EFSH| 90,530 90,530
OXNsEDEMAH(ITS) 2oHAH| DE3}
45,265,000 *2CH 90,530
WEANS A|AEH D= 550,000 550,000
401 AlEH|IZL L2 C0HY] 550,000 550,000
01 Al&HI 545,860 545,860
OnsEalsl| 8x1 & M
300,000,0002%99.28/100 297,840
O=lt8E &2 &X|
150,000,00024%99.28/100 148,920
OHlEd 2ilss BEREX FO0HEX
100,000,000 %99.1/100 99,100
03 Al 2 0HHI 4,140 4,140 0




A WSt
M SRS XY L nSotd A (NELER/UHSRS - EFSIIE
el WSoHNAlE EE 2 2 (Gt H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
Ousdla)l| €X & o
300,000,000 *0.72/100 2,160
OgHRE 7| &%
150,000,000 *0.72/100 1,080
Otted 2ddlss EXEX FOHEX
100,000, 000& *0.9/100 900
wWELS AIAE SX2tc 460,000 480,000 /20,000
206 M=4| 50,000 50,000 0
01 =4l 50,000 50,000 0
OuSHSHOI| S5 2
28,000,000 & x14! 28,000
OdbssS BEXEX NIH-S
22,000,000 *14] 22,000
401 AlIEHIZL 2 0HY| 410,000 430,000 20,000
01 Al&H| 408,020 427,300 19,280
Ouns4dsl| |l B
200,000, 0002 *99.28/100 198,560
ONSNBEF T 70,000,000 141 70,000
OLz AEEE DA
60,000,000& *99.1/100 59,460
OAlIZEeI 8 Se4lsI] WA
80,000,000& *14] 80,000
03 A2 THYI 1,980 2,700 AT20
ORSHBI| 9T P
200,000,000& *0.72/100 1,440
Ok= ds3E= WA
60,000, 000& *0.9/100 540
HAZSBAIAE 2= 1,170,275 700,000 470,275
207 HoHe| 560,000 0 560,000
02 HADHE] 560,000 0 560,000
OHAHZOHHAIAB(BIS) D=5t
450,000,000 *14] 450,000
OS¢& BIS H2I| =AY
110,000,000 * 14! 110,000
401 AIEHIZL S OHLI 610,275 700,000 N89,725
01 A<l 606,431 695,590 A89,159
OB AZZOHDIBIT) 75
610,275,000&%99.37/100 606,431
03 A2 CHYI 3,844 4,410 A\566
OHAZLOHLHIIBIT) 75(0.63%)
3,844,000 14! 3,844
AMUEHA 332 I 380,000 400,000 /20,000
201 L= 80,000 100,000 /20,000
02 324l 80,000 100,000 /20,000
OANUBA FFA ®IIQ2
80,000,000& *14] 80,000




A WSt
M SRS XY L nSotd A (NELER/UHSRS - EFSIIE
Rl WECHNMAIL &F & 2l EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
401 Al HIZL 2018 300,000 300,000 0
01 A=l 297,480 297,840 A360
OALIBIA HEA &x) 2 ogixe)
150,000,000 *99.28/100 148,920
OREAX HELS OIBAIA Ha
100,000,000& *99. 1/100 99,100
Os0E EF72 WM 2 &4
50,000,000 *98.92/100 49,460
03 Al THHI 2,520 2,160 360
OAILIHA BJA X 2 2RI
150,000,000 *0.72/100 1,080
OuEAi Hsls 0IBAIE MM
100,000, 000& *0.9/100 900
Os0E 332 WAl ¥ &l-
50,000,000 *1.08/100 540
WSHMALEE £X 400,000 300,000 100,000
401 Al HIZ S 0HbI 400,000 300,000 100,000
01 AlZH| 397,120 297,840 99,280
OusSAUHAILE &X
200,000,000 *99.28/100 198,560
OuSAtL KIS st ni=LE0| &1
200,000,000&99.28/100 198,560
03 A2 CHYI 2,880 2,160 720
OunsSUHEAILE 4X
200,000,000 *0.72/100 1,440
OuEALD HgsS 2% W20l X
200,000,000& *0.72/100 1,440
OIEXe WSAMALEE RA 2+ 100,000 100,000 0
401 AIEHIZ SR 0HYI 100,000 100,000
01 A&l 99,100 99,100
ORlgxXel NSHHAEE FAI B
100,000,000 *99. 1/100 99,100
03 A2 THYI 900 900 0
ORlEXel nsSAHALE RA 2=
100,000, 000& *0.9/100 900
AU e 24 800,000 800,000 0
401 AIEHIZL 2 OHYI 800,000 800,000
01 AlZHI 794,960 794,960
OAILHZ R Xt T B
800,000,000&*99.37/100 794,960
03 Al S CHYI 5,040 5,040 0
OAUZE It A 2
800,000,000 *0.63/100 5,040
01210l 25+ tHAIEdE RAE+ 70,000 70,000
401 AlEHIZ S 0HbI 70,000 70,000
01 AlZHI 69,370 69,370




SA: DS
M znsS XN 2 nSotd 2 (nsSLSR/USLE - EF/SIIEY
el WSoHNAlE EE 2 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0el0l B9 tMAIEdE FAl 2=
70,000,000&+99.1/100 69,370
03 Al =2 0HHI 630 0 630
O0el0l B9 otMAldE FAl 2+
70,000,000& +0.9/100 630
wSHs 21X & o 35,000 0 35,000
401 AIEHIZ R 0HYI 35,000 0 35,000
01 Al&HI 35,000 0 35,000
OnsalsI| Ex & e [2023E CraHECH
A A A HI] 35,000,000 * 14| 35,000
HY=SZH(WSH) OIEIIED 63,442 71,271 AT7,829
el 2E| 11,183 8,709 2,444
el E2d| 11,183 8,709 2,444
101 ©1AH| 11,183 8,709 2,444
03 SR (RIH )22 U2+ 11,183 8,709 2,444
OAltRAZ 25
15,4903 x2H*20A| 2+ x 122 +150% 11,183
Jl=3H| 52,289 62,562 A10,273
Jl=23H] 52,289 62,562 A10,273
201 er2&| 27,672 35,235 AT,563
01 At2teltl 27,672 35,235 AT,563
OYurBY| EHH4
9,851,000& %14 9,851
OSgtl s9AHd 16,477,000 x14] 16,477
O32H =gl 8,000 x2&»x7Lx 123 1,344
202 04l 19,817 22,527 22,710
01 2LHoIH 19,817 22,527 2,710
O=U0Hl SHA 17,417,000 » 14 17,417
OS=A 20l
20,0002 x2H+62x 12 2,400
203 =4l 4,800 4,800
M FA2ELRFAI 4,800 4,800
OunEH(2rly) 400,000 <123 4,800




